L ¥ A v 2T EHIZ, BE5RE B58 B5H 17 —VBHK
SRTTFv =B 60mg/m?’ ds
CDDP +TS-1 35H
FA—TRTYV AR 80mg/m?/day dl () ~d22 (&)
SRTTFv =B 80mg/m?’ dl
CDDP +Cape N 21H
HhRT a2y s 1000mg/m?/[a] dl (%) ~d15 ()
SRTTFv =B 80mg/m?’ dl
CDDP +CPT-11 - 28H
1Y/ FhY Ve 70mg/m? d1, di5
CPT-11 AV /Fhy =y 150mg/m? d1, 15 35H
Ftgx+tiL S 40mg/m? d1
DTX +TS-1 21H
FA—IRT > MR 80mg/m?/day dl (%) ~d15 (#)
DTX Ftgx+iL S 60mg/m? d1 21H
SLYLTT Y] 8mg/kg di1, di15
Ram +PTX 28H
Ry RFEINL =i} 80mg/m? dil, d8, dis
SLINLTT =yt 8mg/kg d1, dib
Ram +nab-PTX . 28H
nab-/87 1) & ¥ L S 100mg/m? d1, d8, di5
Nivo (g2w) —Ri<7 W] 240mg/Body dl 148
Nivo (g4w) ZRL< T U 480mg/Body dil 28H
Ram SLYNTT =] 8mg/kg dl 148
PTX AV &P ] 80mg/m?’ dl, d8, di5 28H
weekly nab-PTX nab-/<2 U & ¥ 4L ] 100mg/m? d1, d8, di5 28H
nab-PTX nab-/¢7 1) 2 ¥ L Y] 260mg/m? d1 21H
SOX FTEHUTIF =¥ 130mg/m? d1 e
(L-OHP 130mg/m2) F4—xTz7> AR 80mg/m?/day dl (%) ~d15 (&)
SOX FTEHUTIF =¥ 100mg/m? d1 e
(L-OHP 100mg/m2) F4—T 27> AR 80mg/m?*/day dl (#) ~d15 (&)
FEXHYTSSF =Y 130mg/m? d1
CapeOX 21H
HREE Y MR 1000mg/m?/[E] dl (#) ~d15 (&)
FEHYTSF S 85mg/m?’ d1
LARFKY F— b =g 200mg/m? dl
mFOLFOX6 B 148
TNFATIIN (BE) B 400mg/m? d1
TuFaT Iy () SE 2400mg/m? d1~d3
FSRYX<T = 1) 8mg/kg—6mg/kg  dl
T-mab +XP SRTSFv S 80mg/m?’ d1 21A
hRT a2 IR 1000mg/m?/[El dl (&) ~d15 (%)
FSRYRX<T = *1) 8mg/kg—6mg/kg  dl
T-mab + Cape . 218
hREEY PIBR 1000mg/m?/[a] dl () ~di15 (%)
PSRV X< g *1) 8mg/kg—6mg/kg  dl
T-mab+SP SRTSFv =g 60mg/m? dl 21A
FA—IRTV PIBR 80mg/m?/day dl () ~di15 (%)
FSRYX<T =g *1) 8mg/kg—6mg/kg  dl
T-mab+TS-1 _ 218
FA—ITRTV MAR 80mg/m?/day dl (83) ~di15 (%)
FSRYRX<T oy *1) 8mg/kg—6mg/kg  dl
T-mab + SOX FEXHYSSF =Y 130mg/m? d1 218
FA4—ITRATV AR 80mg/m?/day dl (88) ~di15 (%)
FSRYX<T S *1) 8mg/kg—6mg/kg  dl
T-mab + CapeOX FTEHYTSF U 130mg/m? dl 21H
HhRT a2y AR 1000mg/m?/[a] dl (88) ~d15 (%)
FSRYX<T S *1) 8mg/kg—6mg/kg  dl
T-mab +DTX ) : 218
Fex¥til =y 60mg/m? d1




SRV X<T =i 8mg/kg d1
T-mab + PTX : 28H
RO RELIL =i 80mg/m?’ di, 8, 15

*1)#ENE8mg/kg, 2EIBLABEIE6me/kg, 772 L. BIEREGA 0ABMUEZW/5E1E, 8mg/kgs 4D,




